RESOLUTION NO. 2023-573

A RESOLUTION AWARDING A CONTRACT TO SOUTH STATE INC., BRIDGETON, NJ FOR THE RESURFACING OF PENNSYLVANIA AVENUE (LINCOLN AVENUE TO HANCE BRIDGE ROAD), IN THE AMOUNT OF \$732,958.80.

WHEREAS, the City of Vineland has heretofore advertised for bids for the Resurfacing of Pennsylvania Avenue (Lincoln Avenue to Hance Bridge Road), COV BID #(2023-53), in accordance with specifications on file in the office of the Purchasing Agent; and

WHEREAS, on November 17, 2023, bids were received, duly opened and read aloud, being referred to the Business Administrator for tabulation, evaluation, report and recommendation; and

WHEREAS, the Business Administrator has, under date of November 21, 2023 submitted a written report and tabulation of the bids received and has recommended that a contract for the Resurfacing of Pennsylvania Avenue (Lincoln Avenue to Hance Bridge Road), be awarded to South State Inc., Bridgeton, NJ, in the amount of \$732,958.80, said bid being the lowest responsive responsible bid received and considered in the best interest of the City of Vineland; now, therefore,

BE IT RESOLVED by the Council of the City of Vineland that said contract for the Resurfacing of Pennsylvania Avenue (Lincoln Avenue to Hance Bridge Road), COV BID #(2023-53), be and the same is awarded to South State Inc., Bridgeton, NJ, on their bid in the amount of \$732,958.80, said bid being the lowest responsive responsible bid received and considered in the best interest of the City of Vineland, and the Purchasing Agent be and the same is hereby authorized and directed to issue purchase order contract for the same in behalf of the City; and

BE IT FURTHER RESOLVED that the Chief Financial Officer has certified that the funds for the contract to be awarded herein are available.

Adopted:

ATTEST:

President of Council

City Clerk



November 21, 2023

REPORT TO: THE MAYOR AND COUNCIL

RE: Proposals Submitted to the Purchasing Agent 11/9/23

Dear Mayor and Members of Council:

Submitted to you herewith for your consideration is our evaluation of the proposals submitted to the Purchasing Agent on November 9, 2023.

RESURFACING OF PENNSYLVANIA AVENUE (LINCOLN AVENUE TO HANCE BRIDGE ROAD), BID #2023-53

It is the recommendation of the City Engineer, which has the concurrence of the Purchasing Agent and the Business Administrator that a contract be awarded to the lowest responsive responsible bidder, South State, Inc., Bridgeton, NJ, in the total bid amount of \$732,958.80.

We trust that the above recommendation will receive your favorable consideration and that the recommended resolutions will be adopted as presented.

Respectfully submitted,

Robert E. Dickenson, Jr. Business Administrator

/wr





BID EVALUATION FORM

DEPARTMENT Admin/Engineering	Date: 11/21/2023
The undersigned recommends that a contract be	awarded for the following:
1. Bid Title: Resurfacing of Pennsylv	vania Avenue
2. Amount to be Awarded: \$732,958	
Encumber Total Award	
Encumber by Supplemental Relea	ase
3. Engineer's Estimate: \$814,256.7	0
4. Amount Budget: \$ 814,256.70	-
5. Account Number to be Charged:	-2021-67300 ; C-04-00-000-2322-78001
6. Date Bids Received: 11/17/2023	
7. Date to be Awarded: 12/12/2023	
8. Recommended Vendor: South Sta	
9. Is Recommended Vendor the Apparent L	lowest Bidder? 🔳 Yes 🗌 No
10. Comments/Special Instructions:	
11. Evaluation Performed by:	
12. Approved By: David	. <i>Maillet</i> llet, City Engineer
David J. Mai	llet, City Engineer
13. Attached: (Check-Off List)	

Tabulation of Bids Justification for Vendor Recommendation (if applicable) Evaluation Data (if applicable)

.

Send copies to: Purchasing Department Business Administration

PURCHASING AGENT RECOMMENDATION AWARD COV BID # 2023-53



Proposals were received and opened Thursday, November 17, 2023 at 2:00 PM for Resurfacing of Pennsylvania Avenue from the following:

South State Inc: Arawak Paving Co. Inc.: Paving Plus, LLC: Richard E. Pierson Const. WJV General Contractors \$732,958.80 \$766,702.00 \$854,872.62 \$1,025,188.14 Automatic Rejection

Comments: WJV General Contactors did not have an original Bid Bond and Surety which is cause for an automatic rejection.

Recommendation: Award can be made to South State Inc. as they submitted the lowest responsive responsible bid. The department needs to review the proposals to make sure they meet the specifications.

Jeanine N. Meneghetti, QPA Purchasing Agent

CITY OF VINELAND RESURFACING OF PENNSYL VANA AVE. (LINCOLN TO HANCE BRIDGE) BID TABULATION

	CONTRACT INFORMATION			ENGINEER	S ESTIMATE		SOUTH ST	ATE, INC			ARAWAK PAVI	NG CO, INC	.	r	PAVING PLU	S, LLC			RICHARD E. PIERS	ON CONST	
ITEM NO,	DESCRIPTION	UNITS	CONTRACT QUANTITY	ENG. EST UNIT PRICE	ENG. EST. TOTAL	BID UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTEMATE)	BED UNIT PRICE	BID TOTAL	% OF ENG. EST,	S DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% OF ENG. EST.	S DIFFERENCE (CONTRACTOR - ESTIMATE)
1.1.1	CONSTRUTION SIGNS	SF	720	\$10.00	\$ 7,200.00	\$ 0.01	\$ 7.20	D,10%	(\$7,192.80)	\$ 0.01	\$ 7.20	0.10%	(\$7,192.80)	\$ 1.00	\$ 720.00	10.00%	(\$8,480.00)	\$ 13.00	\$ 9,360.00	130,00%	\$2,160.00
1.1.2	TRAFFIC CONES	UNIT	50	\$3.94	\$ 197.00	\$ 0.01	\$ 0.50	0.25%	(\$196.50)	\$ 0.01	\$ 0.50	0.25%	(\$196.50)	\$ 1.00	\$ 50.00	25.38%	(\$147.00)	\$ 0.01	\$ 0.50	0.25%	(\$195.50)
1.1.3	TRAFFIC DRUMS	UNIT	25	\$6,70	\$ 167.50	\$ 0.01	\$ 0.25	0,15%	(\$167.25)	\$ 0.01	\$ 0.25	0,15%	(\$167.25)	\$ 1.00	\$ 25.00	14.93%	(\$142.50)	\$ 0.01	\$ 0.25	0,15%	(\$167.25)
1.1.4	BARRICADES	UNIT	22	\$12,96	\$ 285.12	\$ 0.01	\$ 0.22	0.08%	(\$284.90)	\$ 0.01	\$ 0.22	0.08%	(\$284.90)	\$ 1.00	\$ 22.00	7.72%	(\$263.12)	\$ 0.01	\$ 0.22	0.08%	(\$284.90)
1.1.5	TRAFFIC DIRECTOR, FLAGGER	HOUR	320	\$83.28	\$ 26,649.60	\$ 0.01	\$ 3.20	0.01%	(\$26,545.40)	\$ 0.01	\$ 3.20	0.01%	(\$26,646.40)	\$ 100.00	\$ 32,000.00	120.08%	\$5,350.40	\$ 83.93	\$ 26,857.60	100.78%	\$208.00
2.1.1	CLEARING SITE (NOT TO EXCEED 5% OF TOTAL CONTRACT AMOUNT)	LS	1	\$38,000.00	\$ 38,000.00	\$ 35,000.00	\$ 35,000.00	92.11%	(\$3,000.00)	\$38,000.00	\$ 38,000.00	100.00%		\$40,000.00	\$ 40,000.00	105.26%	\$2,000.00	\$50,000.00	\$ 50,000.00	131.58%	\$12,000.00
3.2.1	5'x18" CONCRETE VERTICAL CURB	LF	60		\$ 3,000.00	\$ 40.00	\$ 2,400.00	80,00%	(\$600.00)	\$ 60.00	\$ 3,600.00	120.00%	\$600.00	\$ 100.00	\$ 6,000.00	200.00%	\$3,000.00	\$ 150.00	\$ 9,000.00	300.00%	\$6,000.00
3,3,1	CONCRETE SIDEWALK, 4" THICK	SY	110	\$43,11	\$ 4,742.10	\$ 100.00	\$ 11,000.00	231,96%	\$6,257,90	\$ 160,00	\$ 17,600.00	371.14%	\$12,857,90	\$ 135,00	\$ 14,850,00	313,15%	\$10,107.90	\$ 150,00	\$ 16,500,00	347.95%	\$11,757.90
3,3,3	CONCRETE DRIVEWAYS, REINFORCED, 6" THICK	SY	33	\$53.28	\$ 1,758.24	\$ 150.00	\$ 4,950.00	281.53%	\$3,191.76	\$ 170.00	\$ 5,610.00	319.07%	\$3,851.76	\$ 200.00	\$ 6,600.00	375.38%	\$4,841.76	\$ 260.00	\$ 8,580.00	487.99%	\$6,821.76
3.4.1	PUBLIC SIDEWALK CURB RAMP DELINEATIONS (CAST IRON TRUNCATED DOME CASTINGS)	UNIT	6	\$305.00	\$ 1,830.00	\$ 400.00	\$ 2,400.00	131,15%	\$570,00	\$ 450,00	\$ 2,700.00	147.54%	\$870.00	\$ 500,00	\$ 3,000.00	163.93%	\$1,170.00	\$ 850,00	\$ 5,100.00	278.69%	\$3,270.00
4.10.1	RESET CASTINGS	UNIT	4	\$425.00	\$ 1,700.00	\$ 250.00	\$ 1,000.00	58.82%	(\$700.00)	\$ 0.01	\$ 0.04	0.00%	(\$1,699,96)	\$ 10.00	\$ 40.00	2,35%	(\$1,660,00)	\$ 570,00	\$ 2,280.00	134.12%	\$580,00
4.11.1	RESET VALVE BOXES	UNIT	7	\$80.00	\$ 560.00	\$ 1.00	\$ 7.00	1.25%	(\$553.00)	S 0.01	\$ 0.07	0.01%	(\$559.93)	\$ 10.00	\$ 70.00	12.50%	(\$490.00)	\$ 50.00	\$ 350.00	62.50%	(\$210.00)
4.12.2	REPLACE INLET CASTINGS, GRATES & CURB PIECES, TYPE B	UNIT	12	\$1,250.00	\$ 15,000.00	\$ 200,00	\$ 2,400.00	16.00%	(\$12,500,00)	\$ 1,400.00	\$ 16,800,00	112,00%	\$1,800.00	\$ 1,900.00	\$ 22,800.00	152,00%	\$7,800.00	\$ 2,100.00	\$ 25,200.00	168,00%	\$10,200.00
4,12.3	REPLACE INLET CASTINGS & GRATES, TYPE E	UNIT	3	\$1,020,00	\$ 3,060.00	\$ 200.00	\$ 600.00	19.61%	(\$2,460.00)	\$ 1,400.00	\$ 4,200,00	137,25%	\$1,140.00	\$ 1,900.00	\$ 5,700.00	186.27%	\$2,640.00	\$ 2,200.00	\$ 6,600,00	215,69%	\$3,540.00
4.12.4	REPLACE MANHOLE CASTINGS & COVERS	UNIT	4	\$500.00	\$ 2,000.00	\$ 200.00	\$ 800.00	40.00%	(\$1,200.00)	\$ 1,000.00	\$ 4,000.00	200.00%	\$2,000.00	\$ 1,000.00	\$ 4,000.00	200.00%	\$2,000.00	\$ 894,00	\$ 3,576.00	178.80%	\$1,576.00
5.1.1	SAWCUTTING (HMA)	LF	362	\$2.00	\$ 724.00	\$ 0.01	\$ 3.62	0.50%	(\$720.38)	\$ 0.01	\$ 3.62	0.50%	(\$720.38)	\$ 1.00	\$ 362.00	50.00%	(\$362.00)	\$ 7.00	\$ 2,534.00	350.00%	\$1,810.00
5.2.3	ROADWAY EXCAVATION, UNCLASSIFIED, (IF AND WHERE)	CY	400	\$23.00	\$ 9,200.00	\$ 0.01	\$ 4.00	0.04%	(\$9,196.00)	\$ 0.01	\$ 4.00	0.04%	(\$9,196.00)	\$ 1.00	\$ 400.00	4,35%	(\$8,800,00)	\$ 95.00	\$ 38,000,00	413.04%	\$28,800.00
5.5.2	MILLING OF HMA, 4"-6" THICK	SY	20,500	\$4,80	\$ 98,400.00	\$ 3.20	\$ 65,600.00	66,67%	(\$32,800,00)	\$ 6.00	\$ 123,000.00	125.00%	\$24,600.00	\$ 6.00	\$ 123,000.00	125,00%	\$24,600.00	\$ 8,00	\$ 164,000,00	166,67%	\$65,600.00
6.1.1	DENSE GRADED AGGREGATE BASE COURSE (RECYCLED CONCRETE), IF AND WHERE	CY	400	\$42,00	\$ 16,800.00	\$ 0.01	\$ 4.00	0.02%	(\$16,795,00)	\$ 0.01	\$ 4.00	0.02%	(\$16,796.00)	\$ 1.00	\$ 400.00	2.38%	(\$16,400.00)	\$ 72.00	\$ 28,800,00	171.43%	\$12,000.00
7.1.1	HOT MIX ASPHALT 19M64 BASE COURSE, 2" THICK	TON	2,810	\$65.00	\$182,650.00	\$ 95.00	\$ 266,950.00	146,15%	\$84,300.00	\$ 83.00	\$ 233,230.00	127.69%	\$50,580.00	\$ 94.00	\$ 264,140.00	144.62%	\$81,490.00	\$ 91.00	\$ 255,710.00	140.00%	\$73,060.00
7.1.4	HOT MIX ASPHALT 9,5M64 SURFACE COURSE, 2" THICK	TON	2,810	\$115.00	\$323,150.00	\$ 95.00	\$ 266,950,00	82.61%	(\$56,200.00)	\$ 89.50	\$ 251,495.00	77.83%	(\$71,655.00)	\$ 94.00	\$ 264,140.00	81.74%	(\$59,010.00)	\$ 98.00	\$ 275,380.00	85.22%	(\$47,770.00)
7.1.7	HOT MIX ASPHALT 9.5M64 SURFACE COURSE DRIVEWAY ADJUSTMENT, 3" THICK	TON	96	\$127.00	\$ 12,192,00	\$ 250,00	\$ 24,000.00	196.85%	\$11,808.00	\$ 225.00	\$ 21,600.00	177.17%	\$9,408.00	\$ 120.00	\$ 11,520.00	94,49%	(\$872.00)	\$ 340,00	\$ 32,640.00	267.72%	\$20,448.00
7.6.1	ASPHALT PRICE ADJUSTMENT	DOLLAR	16,600	\$1,00	\$ 16,600.00	\$ 1.00	\$ 16,600.00	100.00%		\$ 1.00	\$ 16,600.00	100.00%		\$ 1.00	\$ 16,600.00	100.00%		\$ 1.00	\$ 16,600.00	100.00%	
7.6.2	FUEL PRICE ADJUSTMENT	DOLLAR	9,900	\$1.00	\$ 9,900,00	\$ 1.00	\$ 9,900.00	100,00%		\$ 1.00	\$ 9,900.00	100.00%		\$ 1.00	\$ 9,900.00	100.00%		\$ 1.00	\$ 9,900.00	100.00%	
8,1,1	TOPSOILING, 4" THICK (IF & WHERE DIRECTED)	SY	2,304	\$5,00	\$ 11,520.00	\$ 1.00	\$ 2,304.00	20.00%	(\$9,216.00)	\$ 0.01	\$ 23.04	0.20%	(\$11,496.96)	\$ 1.00	\$ 2,304.00	20.00%	(\$9,216.00)	\$ 7.00	\$ 16,128.00	140.00%	\$4,608.00
8.2.1	FERTILIZING AND SEEDING, TYPE A	SY	2,304	\$2.50	\$ 5,760.00	\$ 0.10	\$ 230,40	4,00%	(\$5,529,60)	\$ 0.01	\$ 23.04	0.40%	(\$5,736.96)	\$ 1.00	\$ 2,304.00	40.00%	(\$3,456.00)	\$ 0,50	\$ 1,152.00	20.00%	(\$4,608,00)
8.3.1	STRAW MULCHING	SY	2,304	\$0,42	\$ 967.68	\$ 0.01	\$ 23.04	2.38%	(\$944.64)	\$ 0,01	\$ 23.04	2,38%	(\$944.64)	\$ 1,00	\$ 2,304.00	238,10%	\$1,336,32	\$ 0,80	\$ 1,843.20	190,48%	\$875,52
13.1.1	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4" WHITE	ĿF	200	\$0,30	\$ 60,00	\$ 0,46	\$ 92.00	153,33%	\$32,00	S 0,47	\$ 94.00	156,67%	\$34,00	\$ 0,52	\$ 104.00	173,33%	\$44,00	\$ 0,46	\$ 92.00	153,33%	\$32,00
13.1.2	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4" YELLOW	LF	6,257	\$0,50	\$ 3,128.50	\$ 0.46	\$ 2,878.22	92.00%	(\$250,28)	\$ 0,47	\$ 2,940.79	94.00%	(\$187.71)	\$ 0.52	\$ 3,253.64	104,00%	\$125,14	\$ 0,46	\$ 2,878.22	92.00%	(\$250,28)
13.1.3	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 6" WHITE	UF	12,053	\$0,60	\$ 7,231.80	S 0.60	\$ 7,231.80	100.00%		\$ 0.57	\$ 6,870.21	95.00%	(\$361.59)	\$ 0.66	\$ 7,954.98	110.00%	\$723,18	\$ 0.60	\$ 7,231.80	100.00%	
13.2.3	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, & WHITE	LF	265	\$1.61	\$ 426.65	\$ 0.85	\$ 225.25	52.80%	(\$201.40)	\$ 1.15	\$ 304.75	71.43%	(\$121.90)	\$ 0.90	\$ 238.50	55.90%	(\$188.15)	\$ 0.85	\$ 225.25	52.80%	(\$201.40)
13.2.6	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 24" WHITE	LF	195	\$4.90	\$ 955.50	\$ 5.10	\$ 994,50	104.08%	\$39.00	\$ 4.60	\$ 897.00	93,88%	(\$58.50)	\$ 5.50	\$ 1,072.50	112.24%	\$117.00	\$ 5.10	\$ 994,50	104.08%	\$39,00
13.3.1	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, LEFT ARROW, WHITE	UNIT	2	\$116.25	\$ 232.50	\$ 110.00	\$ 220.00	94.62%	(\$12.50)	\$ 115.00	\$ 230.00	98.92%	(\$2.50)	\$ 140.00	\$ 280.00	120.43%	\$47.50	\$ 110.00	\$ 220.00	94.62%	(\$12.50)

CITY OF VINELAND RESURFACING OF PENNSYLVANIA AVE. (LINCOLN TO HANCE BRIDGE) BID TABULATION

	CONTRACT INFORMATION			ENGINEEP	S ESTIMATE	ſ	SOUTH ST	ATE, INC			ARAWAK PAV	ING CO. IN	c.	ſ	PAVING PLL	IS, LLC			RICHARD E. PIERS	ON CONST	r.
ITEM NO,	DESCRIPTION	UNITS	CONTRACT	ENG. EST UNIT PRICE	ENG, EST. TOTAL	BID UNIT PRICE	BID TO TAL	% OF ENG. EST.	\$ DIFFERENCE (CONTRACTOR - ESTIMATE)	BIO UNIT PRICE	BID TOTAL	% OF ENG. EST.	S DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% OF ENG. EST,	S DIFFERENCE (CONTRACTOR - ESTIMATE)	BID UNIT PRICE	BID TOTAL	% OF ENG. EST,	S DIFFERENCE (CONTRACTOR ESTIMATE)
13,3,2	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, RIGHT ARROW, WHITE	UNIT	2	\$110.00	\$ 220.00	\$ 110.00	\$ 220.00	100.00%		\$ 115,00	\$ 230,00	104.55%	\$10.00	\$ 140.00	\$ 280,00	127.27%	\$60,00	\$ 110.00	\$ 220.00	100.00%	
13.3.5	THERMOPLASTIC, "ONLY" LEGEND,	UNIT	4	\$134.25	\$ 537.00	\$ 125.00	\$ 500,00	93,11%	(\$37.00)	\$ 170.00	\$ 680.00	126,63%	\$143.00	\$ 150,00	\$ 600.00	111.73%	\$63.00	\$ 125.00	\$ 500.00	93,11%	(\$37.00)
13.3,8	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, "STOP AHEAD" LEGEND, WHITE	UNIT	1	\$350,00	\$ 350.00	\$ 275.00	\$ 275.00	78.57%	(\$75.00)	\$ 370.00	\$ 370.00	105.71%	\$20,00	\$ 325,00	\$ 325,00	92,86%	(\$25,00)	\$ 275.00	\$ 275.00	78.57%	(\$75.00)
13.3.9	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, RUMBLE STRIPS, WHITE	ĿF	120	\$15.00	\$ 1,800.00	\$ 4.05	\$ 486.00	27.00%	(\$1,314.00)	\$ 3.40	\$ 408.00	22.67%	(\$1,392.00)	S 4.90	\$ 588.00	32.67%	(\$1,212.00)	\$ 4.05	\$ 486.00	27.00%	(\$1,314.00
13.8.1	RPM, BI-DIRECTIONAL, YELLOW LENS	UNIT	79	\$33.00	\$ 2,607.00	\$ 35.10	\$ 2,772.90	106.36%	\$165.90	\$ 31.00	\$ 2,449.00	93.94%	(\$158.00)	\$ 40.00	\$ 3,160.00	121.21%	\$553.00	\$ 35.10	\$ 2,772.90	106.36%	\$165.90
13.8.2	RPM, BI-DIRECTIONAL, BLUE LENS	UNIT	7	\$33,00	\$ 231.00	\$ 35,10	\$ 245.70	106,36%	\$14.70	\$ 31.00	\$ 217.00	93.94%	(\$14,00)	\$ 40.00	\$ 280,00	121.21%	\$49,00	\$ 35,10	\$ 245.70	106,36%	\$14,70
14.1.R1-1	SIGN, POST MOUNTED, STOP, 36"x36"	UNIT	3	\$171.67	\$ 515.01	\$ 400,00	\$ 1,200.00	233,01%	\$684.99	\$ 335.00	\$ 1,005.00	195.14%	\$489.99	\$ 400.00	\$ 1,200.00	233,01%	\$684,99	\$ 325.00	\$ 975,00	189.32%	\$459,99
4.1.R2-1(40)	SIGN, POST MOUNTED, SPEED LIMIT (40), 24"x30"	UNIT	2	\$162.00	\$ 324.00	\$ 210.00	\$ 420.00	129.63%	\$96.00	\$ 185.00	\$ 370.00	114.20%	\$46.00	\$ 225.00	\$ 450.00	138.89%	\$126.00	\$ 180.00	\$ 360.00	111.11%	\$36,00
4.1.R2-1(45)	SIGN, POST MOUNTED, SPEED LIMIT (45), 24"x30"	UNIT	1	\$165,00	\$ 165.00	\$ 210,00	\$ 210.00	127.27%	\$45.00	\$ 185.00	\$ 185.00	112.12%	\$20.00	\$ 225,00	\$ 225,00	136,36%	\$60.00	\$ 180.00	\$ 180.00	109,09%	\$15,00
14.1.R3-8LR	SIGN, POST MOUNTED, LANE CONTROL (2 LANE, LEFT RIGHT), 36"x36"	UNIT	2	\$150.00	\$ 300.00	\$ 400.00	\$ 800.00	266.67%	\$500.00	\$ 330.00	\$ 660.00	220.00%	\$360.00	\$ 400.00	\$ 800.00	266.67%	\$500,00	\$ 325.00	\$ 650.00	216.57%	\$350.00
14.1.W3-1a	SIGN, POST MOUNTED, STOP AHEAD, 36'X38'	UNIT	1	\$212,50	\$ 212.50	\$ 400,00	\$ 400.00	188.24%	\$187,50	\$ 330.00	\$ 330.00	155.29%	\$117.50	\$ 400,00	\$ 400,00	188.24%	\$187.50	\$ 325,00	\$ 325.00	152.94%	\$112.50
14.1.51-1	SIGN, POST MOUNTED, SCHOOL ADVANCE WARNING, (FI Y-G), 35"x36"	UNIT	1	\$247.00	\$ 247.00	\$ 400,00	\$ 400.00	161.94%	\$153.00	\$ 331.93	\$ 331.93	134.38%	\$84.93	\$ 400.00	\$ 400.00	151.94%	\$153.00	\$ 325.00	\$ 325.00	131.58%	\$78.00
14.6.2	REMOVE SIGN(S) & POST, POST MOUNTED ASSEMBLY	UNIT	10	\$70,00	\$ 700,00	\$ 25,00	\$ 250.00	35,71%	(\$450.00)	\$ 0,01	\$ 0,10	0,01%	(\$699,90)	\$ 1,00	\$ 10.00	1.43%	(\$690.00)	\$ 14.00	\$ 140.00	20,00%	(\$560.00)
	TOTAL ESTIMATED PROJECT COSTS			s	814,256,70		\$ 732,958,80				\$ 767,000,00		-		\$ 854,872,62				\$ 1,025,188,14		

TABULATION OF BID COV 2023-53 RESURFACING OF PENNSYLVANIA AVENUE NOVEMBER 17, 2023

Engineers Estimate - \$814,256.70

	South State, Inc. PO Box 68 Bridgeton, NJ 08302	Arawak Paving Co. Inc. 7503 Weymouth Road Hammonton, NJ 08037	Paving Plus, LLC PO Box 464 Glassboro, NJ 08028	Richard E. Pierson Const. 426 Swedesbro Road Pilesgrove, NJ 08098	WJV General Contractors 93 Penns Grove Pedrick- town Rd. Pedricktown, NJ
BB, CAC, CEC	BB 10%	BB 10%	BB 10%	BB 10%	BB 10% *
Surety	YES	YES	YES	YES	YES *
Ownership Disclosure	YES	YES	YES	YES	YES
Affirm. Action	YES	YES	YES	YES	YES
Check List	YES	YES	YES	YES	YES
Proposal	YES	YES	YES	YES	YES
Acknowledgement of Addenda	YES	YES	YES	YES	YES
Iran Disclosure	YES	YES	YES	YES	YES
List of subcontractors	YES	YES	YES	YES	YES
Cert. of Debarment	YES	YES	YES	YES	YES
TOTAL	\$732,958.80	\$767,000.00	\$854,872.62	\$1,025,188.14	Automatic Rejection
CORRECT TOTAL		\$766,702.00			

* Bid bond was not original, Automatic Rejection.

Specifications also received by the following:

AE Stone Inc.DeltekAmerican AsphaltCISGWP EnterprisesPrime VendorArawak Paving, Co.Construct ConnectLexa ConcreteGerald A Barrett LLC